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Roll No. ....................................

MAEC-12 (M.A. Economics)

First Year, Examination-2015

MAEC-103

Indian Economy

(Hkkjrh; vFkZO;oLFkk)
Time : 3 Hours Maximum Marks : 60

Note : This paper is of sixty (60) marks divided into three (03)
sections A, B, and C. Attempt the questions contained
in these sections according to the detailed instructions
given therein.

uksV % ;g iz'u&i=k lkB (60) vadksa dk gS tks rhu (03) [kaMksa d] [k rFkk
x esa foHkkftr gSA izR;sd [k.M esa fn, x, foLr`r funsZ'kksa ds
vuqlkj gh iz'uksa dks gy djuk gSA

Section - A @ [k.M&d

(Long Answer Type Questions)@(nh?kZ mÙkjksa okys iz'u)

Note : Section 'A' contains four (04) long-answer-type
questions of fifteen (15) marks each. Learners are
required to answer any two (02) questions only.

(2×15=30)

uksV % [k.M ̂ d* esa pkj (04) nh?kZ mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, iUæg vad fu/kZfjr gSa A f'k{kkfFkZ;ksa dks buesa ls
dsoy nks iz'uksa ds mÙkj nsus gSa A
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1. Explain the achievements of 'Economic planning in India.

Hkkjr esa vkfFkZd fu;sktu dh miyfC/;ksa dh O;k[;k dhft,A

2. Explain the effects of rapidly increasing population in India.
What measures are being adopted by the government to
control population.

Hkkjr esa rsth ls c<+rh gqbZ tula[;k ds izHkkoksa dh O;k[;k dhft,A
tula[;k dks fu;af=kr djus ds fy;s D;k mik; fd;s tk jgs gS\

3. For what reasons agricultural productivitiy in India is low ?

Suggest measures to raise productivity.

fdu dkj.kksa ls Hkkjr esa o`Qf"k mRikndrk fuEu gS\ mRikndrk
c<+kus ds fy;s mik;ksa dk lq>ko nhft,A

4. Throw light on the importance of export. What steps have
been taken by the government of India for export promotion.

fu;kZr ds egRo ij izdk'k Mkfy,A fu;kZr izksRlkgu ds fy;s Hkkjr
ljdkj }kjk D;k dne mBk;s x;s gS\

Section - B @ [k.M&[k

(Short Answer Type Questions) (y?kq mÙkjksa okys iz'u)

Note : Section 'B' contains eight (08) short-answer-type
questions of five (05) marks each. Learners are required
to answer any four (04) questions only. (4×5=20)

uksV % [k.M ̂ [k* esa vkB (08) y?kq mÙkjksa okys iz'u fn;s x, gSa] izR;sd
iz'u ds fy, ik¡p (05) vad fu/kZfjr gaS A f'k{kkfFkZ;ksa dks buesa
ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSa A

1. The objectives of world trade organisation.

fo'o O;kikj laxBu ds mn~ns';
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2. Small scale industries

y?kq {ks=k mn~;e

3. New Agriculture Policy

uohu o`Qf"k j.kuhfr

4. Present Industrial Policy of India.

Hkkjr dh orZeku vkS|ksfxd uhfr

5. Indian Monetary Policy

Hkkjrh; ekSfnzd iz.kkyh

6. Unemployment in India.

Hkkjr esa csjkstxkjh

7. National Income of India.

Hkkjr dh jk"Vªh; vk;

8. Land reforms in India

Hkkjr eas Hkwfe lq/kj

Section - C @ [k.M&x

(Objective Type Questions) @ (oLrqfu"B iz'u)

Note : Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10×1=10)

uksV % [k.M ^x* esa nl (10) oLrqfu"B iz'u fn;s x, gSa] izR;sd iz'u
ds fy, ,d (01) vad fu/kZfjr gS A bl [k.M ds lHkh iz'u
vfuok;Z gSa A
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1. The traditional quality of Indian Economy.

(a) Dominance of Agriculture

(b) Low per capital income

(c) High Density of population

(d) All these

Hkkjrh; vFkZO;oLFkk dh ijEijkxr fo'ks"krk gS &
(v) d`f"k dh iz/kurk
(c) fuEu izfrO;fDr vk;
(l) tula[;k ?kuRo dk vkf/D;
(n) ;s lHkh

2. The establishment of planning commission of India was in :

(a) 2 August, 1950

(b) 15 March, 1950

(c) 15 March, 1949

(d) None of the above

Hkkjr esa ;kstuk vk;ksx dh LFkkiuk gqbZ

(v) 2 vxLr] 1950 esa

(c) 15 ekpZ] 1950 esa

(l) 15 ekpZ] 1949 esa

(n) buesa ls dksbZ ugha

3. New population Policy was announced in :

(a) 15 Feb, 2000

(b) 1 March, 2000

(c) 1 March, 2001

(d) 15 Feb, 2001
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uohu tula[;k uhfr dh ?kks"k.kk dh x;h &

(v) 15 iQjojh] 2000

(c) 1 ekpZ] 2000

(l) 1 ekpZ] 2001

(n) 15 iQjojh] 2001

4. Who first estimated the 'National Income' :

(a) Jawahar Lal Nehru

(b) Dada Bhai Nairoji

(c) Mahatma Gandhi

(d) None of these

loZizFke jk"Vªh; vk; dk vuqeku fdlus yxk;k\

(v) tokgj yky usg:

(c) nknk HkkbZ ukjkSth

(l) egkRek xk¡/h

(n) buesa ls fdlh us ugha

5. Disguised unemployment found in India in :

(a) In Agriculture

(b) In Industry

(c) In Service

(d) In transport

Hkkjr esa vn`'; csjkstxkjh ik;h tkrh gS&

(v) d`f"k esa

(c) m|ksx esa

(l) lsok esa

(n) ;krk;kr esa
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6. The era of Liberalization started in India in :

(a) 2000

(b) 1950

(c) 1991

(d) 1980

Hkkjr esa mnkjhdj.k ds ;qx dk izkjEHk gqvk %

(v) 2000 esa

(c) 1950 esa

(l) 1991 esa

(n) 1980 esa

7. The policy of aboliton of child labour is related with :

(a) Child labour in Agriculture Industry

(b) Child labour in dangerous Industry

(c) Child labour in Agriculture work

(d) All these

ckyJe mUewyu ;kstuk dk laca/ gS &

(v) d`f"k m|ksx esa yxs cky Jfedksa ls

(c) [krjukd m|ksxksa esa yxs cky Jfedksa ls

(l) Ñf"k dk;ks± esa yxs cky Jfedksa ls

(n) ;s lHkh
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8. Which one is Banker's Bank ?

(a) RBI

(b) SBI

(c) PNB

(d) None

cSadksa dk cSad gS &

(v) RBI

(c) SBI

(l) PNB

(n) dksbZ ugha

9. Economic development depends on :

(a) Natural Resources

(b) Capital formation

(c) Size of the market

(d) All of the above

vkfFkZd fodkl fuHkZj djrk gS &

(v) izkd`frd lalk/uksa ij

(c) iw¡th fuekZ.k ij

(l) cktkj ds vkdkj ij

(n) lHkh ij
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10. Money supply is governed by the :

(a) Planning commission

(b) Finance Commission

(c) Reserve Bank of India

(d) None of the these

eSfVªd iwfrZ dk lapkyu fd;k tkrk gS &

(v) ;kstuk vk;ksx

(c) foÙk vk;ksx

(l) Hkkjrh; fjtoZ cSad

(n) buesa ls dksbZ ugha


